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s wha | W s | Rl | mmeos | GBEL | m s | BB | mes | GBE i e | W% | gty | o | Ry | mm o | Ry | mm e | Rl
1. B £ ] k3 15 860 413 221 106 988 475 12 0.6 081 33 + i3 i3 15| 860 413 221 106 988 475 12 06 2,081
2% K 5 v 7 kK — L B 1,689 19.2 408 46 6.561 745 148 17 H ok 15 v o7 bR — L 1,689 19.2 408 4.6 6,560 745 148 1.7 8.805
3. B k3 5] 714 227 359 1.4 1613 514 455 145 141 B 3 15| 714 227 359 114 1612] 513 455 145 3.140
4. % B8 # & L] 5] 28,957 759 615 16 8425 221 176 05 173 [:3] & L] 15| 28,957 75.9 615 16 8426 221 175 0.5 38,173
sk KX I — A (B A ) 784 199 76 19 1212 45 1360) 346 2 - (B A 784 199 7 19 1714 436 1356 345 3930
6Kk % T — n ( B s ) 23615 919 151 06 1,874 73 68 03 25,708 - L B 5 ) 23,615 919 151 06 1874 73 68 03 25,708
7L 2 ¥ - 7 - | 1 02 1 02 328 80.2 19| 193 409 L Y ¥ — 7 - )y 1 0.2 1 02 329 804 18 191 409!
8. 4 1 E b g J - b 3 71 2 48 15 35.7 22 524 42 8. 4 A £ b g 7 - V| 3 71 2 48 15 357 22 524 42
9. & I &} 31,546 757 1,197 29 8.650 208 289 0.7 41,682 9. fk & 1E| 31,546 75.7 1197 29 8,648 207 291 0.7 41,682
10. i 35| 1,562 55.2 235 83 798 282 237 84 2,832 10. & E 15| 1,562 55.2 235 8.3 798 282 2317 8.4 2,832
1. & i 35| 1,343 55.7 195 8.1 713 296 160 6.6 2411 1. 8 E 15| 1343 55.7 195 8.1 73 296 160 6.6 2,411
12 % #E B (B & B ) 5,995 82.1 204 28 1073 147 26 04 7,298 12.% # @& B ( B O#E & ) 5,995 821 204 28 1072 147 27 0.4 7,298
13. 2 F & E i 15| 21 34 104 17.0 22 36 463 759 610 132 F . = S E 15| 21 34 104 170 22 36 463 75.9 610
148 L — K — LB (B 5 601 93.3 25 3.9 13 2.0 5 08 644 148 L - — )5 (B 4 ) 601 933 25 3.9 13 20 5 08 644
15. BE B 15 ( B kg ) 8,247 55.8 839 57 5,080 344 607 4.1 14,773 15. [ B 1% ( B ot ) 8,247 55.8 839 5.7 5085 344 602 4.1 14,773
wE % B (B M) 91 156 5 10 214 367 212 461 583 wE % B (B W) 9 156 6 10 213 365 2 468 583
VAR bR — L (B 1136 947 8 15 a1 34 5 04 1200 AR T YRR = LB (B A 1,136 947 18 15 a1 34 5 04 1,200
18. 9 b kl 5 ( B ks ) 794 7 1 0.1 312 279 10 09 1,117 18. 3 £ 3 5 ( B Ll ) 794 AR 1 0.1 312 279 10 09 1,117
19. 9 b kl 5 ( B 2] ) 131 514 13 5.1 107 420 4 16 255 19. 9 £ 3 5 ( B 2] ) 131 514 13 5.1 107 420 4 16 255
20. &£ B 35| 1,465 742 142 72 262 133 105 53 1,974] 20. & Ik 15| 1,465 742 142 72 262 133 105 53 1974
21. 3 i 1| 1321 487 260 96 1,086 400 8 18 2715 2.3 it E 1,321 487 260 96 1085 400 49 18 2,715
22. 7 — ka T Y — 35| 57 195 99 338 121 413 16 55 293 2.7 - F x Y — 15| 57 195 99 338 122 416 15 51 293
23 & 5 6 22 40 148 48 121 i 653 zﬂ 23 & 5 6 a1 40 208 1 161 115 509 102
2.7 4 2 R 7 — FB (B RA) 0 - 2 24 57 68.7 24 289 83 2.7 4 A A — FH (B A) 0 - 2 24 57 68.7 24 289 83
2.7 4 2 R 7 — B (B &) 42 316 3 23 85 63.9 3 23 133 2.7 4 A A7 — FFH (B ) 42 316 3 23 85 639 3 23 133
26.0-5-AF—b- 425422 - Mg (B 5) 2 21 0 - 90 93.8 4 42 96 26.A-7-Ah=b-AV534vR -G (B H) 2 21 0 - 91 948 3 31 96
27.0-5-AF-b-4U54 22 -5 (B W) 0 - 0 - 2 222 7 778 9 27.A-5-Ah=b- 4342 -ME(BRA) 0 - 0 - 2 222 7 718 9
28. 1 (2 E3 0 - 19 73 169 64.8 73 280 261} 28. 1 D x| 0 - 19 73 170 649 73 219 262
29. b 1% — = z A 15| 1,519 278 507 93 1877 343 1.564 286 5467} 29. b 1 - = g a 15| 1519 278 507 93 1885 345 1553 284 5,464
30. L S Pl z v 5] 49 58.3 24 286 8 95 3 36 84 30. L S P v g 15| 49 58.3 24 286 8 95 3 3.6 84,
31. AR > = g b 44 204 53 245 12 56 107 495 216 317K 9 > b g 15 44 204 53 245 12 56 107 495 216
32. 4 z S 5] 24 17 118 84 241 171 1.030 129 1,413 32. 4 z S 15| 24 1.7 18 8.4 243 172 1,028 128 1,413
33. 4 5 35| 8 28 " 38 15 399 154 535 288 33. 4% £ 15 8 28 1" 38 115 399 154 535 288
34. 3 2 2 15| 2 00 0 - 385 8.0 4.413] 91.9 4_@ 34. 3 3 7 15| 2 01 0 - 154 89 1581 910 1737
35 5 v 2 [ B El 18 14 55 42 28 21 1221 924 1.329) e @ B ) 18 14 55 42 28 21 1222 924 1.323]
36. R 7 Y g v 5] 0 - 0 - 1 03 296 99.7 297 36. 7R 7 P z A 15| 0 - 0 - 1 0.3 296 99.7 297
37. & it 35| 2 34 4 6.8 53 89.8 0 - 59 37. & L3 15| 2 34 4 6.8 53 89.8 0 - 59
5 — bR — L0y s — i 3 02 0 - 1,685 96.5 58 33 384 — kKR — v Dy — i 3 0.2 0 - 1,685 96.5 58 33 1,746
9.2 H v Ya- Ty bR — L 0 - 4 75 6 13 43 81.1 3.2 Dy Y a-rIhrybkR — i 0 - 4 75 6 13 43 81.1 53
40. 3 4 ~ b 2 12 2 12 73 45.1 85 525 40. 3 v 15| 2 12 2 12 73 451 85 525 162
M2 F - - R J = — K 15 0 - 0 - 348 512 332 48.8 4.2 F — + R J = — F 35 0 - 0 - 348 51.2 332 488 680
4. % * P 7 15| 2 0.1 2 0.1 1.691 803 412 196 12 % . > 7 5 2 0.1 2 0.1 1,693 804 410 195 2,107
43. 1\ a4 * v * a - A 0 - 1 03 393 985 5 13 43N 1 * z ¥ 2 - A 0 - 1 03 392 985 5 13 398
uYy 4 5 Yy v J a — R 0 - 0 - 13 942 7 58 120 “wy A4 5 oy v J a3 — X 0 - 0 - 113 942 7 58 120
4.4 Y T v F - v a — R 0 - 0 - 58 86.6 9 13.4 67 .4 Y T T — a — 2 0 - 0 - 58 86.6 9 134 67
46. 5 = = g g - A 93 222 12 29 310 740 4 1.0 419 46. 5 b = b g a — A 93 222 12 29 310 74.0 4 10 419
41. 8 3 it ’ a — Z 89 32.6 0 - 162 593 22| 81 273 471 ® -3 pi:3 A a - Z 89 32.6 0 - 161 59.0 23 84 273]
N ETEEEEE 0 - i 03 201 849 52 149 350 wE O R WAL EF O KB 0 - 1 03 301 860 48 187 350
R EEETEY 0 - 0 - 14 66.7 7 333 21 Y EY 0 - 0 - 14 66.7 7 333 21
502 h A4 R K — v fE B 0 - 0 - 26 40.0 39 60.0 65 502 h 4 R K — v K 0 - 0 - 26 400 39 60.0 65
51 4 # # #® 1| 55 293 24 128 53 282 56 208 188 51 ¢ # B B 13 55 293 2 128 53 282 56 2038 188
52. % > it 161 32 69 14 3203 63.4 1.623 321 52 % » it 161 32 69 14 3179 629 1,649 326 5,058
& [ 113,054 604 6,122 33 1,611 216 16397 88 187.184 & [ 113,054 614 6122 33 51,358 219 13,504 13 184,038|
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) P I R I T R L - R N = s P I I R T . R L - R N =
1B £ )] 3 15| 674 36.6 240 13.0 911 495 15 08 1,840 1B £ )] 3 15| 674 36.6 240 13.0 911 495 15 08 1,840
2% ® i§ Y 7 kR — L i 1,701 18.6 433 47 6,855 749 158 1.7 9,147 2% B 5 Y 7 kR — L i 1,701 186 433 47 6,855 749 158 1.7 9,147
o % 5 801 256 386 123 1587 507 356 114 3130 o % 5 801 256 386 123 1587 507 356 114 3130
v B ® ® ® B 2951 754 913 23 8501 217 214 05 39,189) 45 B wm & B # 29561 754 913 23 8501 217 214 05 39,189)
5k % J — L ( B A” ) 993 227 105 24 1,766 403 1,520 347 4,384 5k % J — L ( B A” ) 993 227 105 24 1,766 403 1,520 347 4,384
6k % J — L ( B # ) 23,263 90.5 318 12 2,061 80 72 03 25,714 6k % J — L ( B # ) 23,263 90.5 318 12 2,061 80 72 03 25,714
7L 2 X - 7 - | - - 2 0.5 332 76.5 100 230 434 7L 2 X - 7 - | - - 2 0.5 332 76.5 100 230 434
8.4 4 < g 2 7 - | 3 6.7 1 22 18 40.0 23 51.1 45, 8.4 4 < v A 7 - | 3 6.7 1 22 18 40.0 23 51.1 45,
9. 4 B E| 32,410 753 1515 35 8,777 204 320 0.7 43,022 9.tk B 1iE| 32,410 753 1515 35 8,777 204 320 0.7 43,022
10. £ b1 15| 2,086 62.2 260 78 829 247 177 53 3,352, 10. £ H 15| 2,086 62.2 260 78 829 247 177 53 3,352,
1.8 H 15| 1818 62.3 225 717 720 247 156 53 2,919 1. 8% H 15| 1818 62.3 225 7.7 720 247 156 53 2,919
2% 8 E % (K #E % ) 5919 804 250 34 1,158 157 33 04 7,360 R 5919 80.4 250 34 1158 157 33 04 7,360
13. % F =) Y i 15| 38 57 140 211 17 26 470 70.7 665 13. % F = E H 15| 38 57 140 211 17 26 470 70.7 665
1w L= K — B (B s 758 91.4 33 40 35 42 3 04 824 1w L= K — B (B s 753 91.4 33 40 35 42 3 04 824
15. £ B 1% ( B ot ) 8,021 53.2 1,135 75 5,204 345 730 48 15,090 15. £ k23 1% ( B ot ) 8,021 53.2 1,135 75 5,204 345 730 48 15,090
wE % % ( B A ) 67 113 8 13 217 365 303 509 595 wE % % ( B A ) 67 13 8 13 217 365 303 509 595
1N Ry bR — g (B S 1,364 946 35 24 37 26 6 04 1,442 1.8 R HF vy bR — L H (B ) 1,364 946 35 24 37 26 6 04 1,442
18. % £ 3 15 ( B ot ) 909 728 1 0.1 328 263 10, 0.8 1,248 18. % £ 3 15 ( B ot ) 909 728 1 0.1 328 263 10, 08 1,248
19. % £ 3 15 ( B 2] ) 152 54.1 21 75 106 377 2 0.7 281 19. % £ 3 1% ( B 2] ) 152 54.1 21 75 106 377 2 0.7 281
20 & B 15| 1,367 7.2 159 83 275 143 119 6.2 1,920 20 & B 15| 1,367 2 159 83 275 143 119 6.2 1,920
) i 5 1438 490 287 98 1,154 393 55 19 2934 213 i 5 1438 490 287 98 1,154 393 55 19 2934
2.7 - F ES Pl - 15| 85 249 1m 326 128 375 17 50 341 2.7 - F ES Dl - 15| 85 249 111 326 128 375 17 50 341
23 B 15| 8 27 37 125 46 15.6 204 69.2 295 2. 5 15| 8 27 37 125 46 15.6 204 69.2 295
W7 AR — % (B A) - - 2 23 59 68.6 25 29.1 86 W7 AR — % (B A) - - 2 23 59 68.6 25 29.1 86
%57 AR — % (B %) 36 283 3 24 86 677 2 16 127 57 4 AR — kB (B4 36 283 3 24 86 677 2 16 127
26.A-F-Ah=b-AV34VR0-}B (B4 3 27 1 09 102 91.1 6 54 112] 26.A-F-AF=b-Av34VR-}B (B4 3 27 1 09 102 91.1 6 54 112]
27.0-5-27 - A2342 Rt 5 (BW) - - - - 5 455 6 545 1 27.0-5-27 - A34 R —b B (B W) - - - - 5 455 6 545 1
28. 10 [} Ed 5 18 13 48 180 65.9 75 215 273 28. 10 [} Ed 5 18 13 48 180 65.9 75 215 273
wr L - = » 7 8§ 1713 296 552 96 1,907 330 1606 278 5778 wr L - = » 7 8§ 1713 206 552 96 1,907 330 1606 278 5778
P 69 633 29 266 8 73 3 28 109 Y 69 633 29 266 8 73 3 28 109
31K 9 v > 2 15| 60 255 54 230 12 5.1 109 46.4 235 31K 9 v b A 15| 60 255 54 230 12 5.1 109 46.4 235
32. 4 M A 15| 49 32 123 8.1 148 9.8 1,190 788 1510 32. 4 M A 15| 49 32 123 8.1 148 98 1,190 788 1510
33 4 ® 15| 19 56 17 50 172 51.0 129 383 337 33 4 ® | 19 56 17 50 172 51.0 129 383 337
34. 3 A 7 1% 1 - - - 220 94 2,123 90.6 2,344 34. 3 g 7 15| 1 - = - 220 94 2,123 90.6 2,344
35 3 2 7 Ed g 15| 3 0.2 64 42 30 20 1,435 937 1,532 35 3 2 7 Ed g 15| 3 0.2 64 42 30 20 1,435 937 1,532
R - - - - 2 05 378 995 380 P - - - - 2 05 378 995 380
a8 8 5 2 34 5 85 52 8.1 - - 59 a7 [ 5 2 34 5 85 52 8.1 - - 59
3845 — bR — By s — - - 1 0.0 1,932 948 105 52 2,038 3845 — bR — By s — - - 1 0.0 1,932 948 105 52 2,038
WA H YL a5y kK — - - 5 89 5 89 46 82.1 56 WA H YL a5y kK — L - - 5 89 5 89 46 82.1 56
40. 3 > k 15| 3 26 6 5.2 77 66.4 30 259 116 40. 3 > ~ | 3 26 6 5.2 77 66.4 30 259 116
4.2 F — R J = KR — K 1 0.1 - - 355 49.4 362 50.4 718 4.2 F — R/ — KR — K 1 0.1 - - 355 49.4 362 50.4 718
42 4 > 7 15 - - 2 0.1 1,693 81.9 371 18.0 2,066 42 % X z 7 15| - - 2 0.1 1,693 81.9 371 18.0 2,066
43. /N 4 * z x a - Py - - - - 475 975 12 25 487 43. /N a4 * z x a - A - - - - 475 975 12 25 487
“wy 4 4 Yy v F a — 3 - - - - 132 95.0 7 50 139] “wy 4 4 Yy v F a — A - - - - 132 95.0 7 50 139]
.4 Yy T v F — Y v Fa— 3 - - - - 62 88.6 8 1.4 70 4.4 Yy T v F — Y v Fa— 3 - - - - 62 88.6 8 1.4 70
46. 5 z = z g a - A 91 215 9 21 317 748 7 1.7 424 46. 5 z = z A a - Py 91 215 9 21 317 748 7 1.7 424
98" B % B 2 — 3% 265 553 2 04 185 386 27 56 479 98" B # B 2 — 32 265 553 2 04 185 386 27 56 479
wE O R -BAKBS E OB 1 03 - - 313 844 57 154 371 wE O R -BKBSE OB 1 03 - - 313 844 57 154 a7
Y - - - - 18 750 6 250 24| Y - - - - 18 750 6 250 24|
X 4 R K — v & B 3 43 - - 29 420 37 536 69 W0Z h 4 R K — v & B 3 - - - 29 420 37 536 69
51. { # 4 B 15| 69 26.1 30 1.4 75 284 90 34.1 264 51. { # i1 B | 69 26.1 30 1.4 75 284 90 34.1 264
52. & 2] 4t 205 4.1 88 18 3,006 60.5 1,672 336 4,971 52. & 2] 4t 205 4.1 88 18 3,006 60.5 1,672 336 4,971
& it 116,029 60.6 7,621 40 52,7119 276 14,987 78 191,356 & it 116,029 60.6 7,621 40 52,719 276 14,987 78 191,356
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